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Jl2de (XX A ) 48,852 51,948 A 3,096
201 et 36,612 35,748 864
01 AP 2teltl 32,412 31,548 864




M NHXEH L
MM HNSAAY (XX D)

S o oo

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

O1 detx=2H| 25,500
>DEANSI+EH| 1,500,000& x12& 18,000
DOgH EH, EH 300, 000& *5JH *53] 7,500
O5 = &l 6,912
Dottt - 5422 8,000& x2401 %335 x12& 6,912

02 33294l 4,200 4,200 0
O1222=2 % HA 4,200
DRERS 350,000& x12& 4,200

202 04 b 8,040 12,600 AN 4,560

01 2LHHI 8,040 12,600 N4 ,560
OJleg2+8 ofdl 5,040,000& * 14 5,040

ORMXEE HRFA 220

3,000,000& =14 3,000

203 PR =&Y| 4,200 3,600 600

04 ENSIHRF=AY| 4,200 3,600 600
ORNM2IgIRF&Y| 350,000& *123] 4,200




